PRODUCT INFORMATION

- Operation: chain

- Range: S - M

- Fitting: ceiling, wall

- Colours: white RAL 9016

- Fabrics: refer to Silent Gliss fabric collection

Features:

- 1-to-1gear drive

- Bead chain

- Easy washing / changing of the fabric

10/2021/V1

%SilentGliss



SYSTEM SPECIFICATIONS

A. SYSTEM
DIMENSIONS — max.— m}x. kg m?
3m 3m 2 kg 9m’
B. PROFILE 15 23 7
Profile information _T it) f
20
23
J - L
SG 2211 §G1003p SG 2004
Velcro profile Profile Bottom bar 20x7 mm
C.HOWTO _ A _ A: System width
MEASURE ‘ B: System height

C: Chain height

Z,
/ D: Safety retainer SG 10731 min. 150 cm above floor
Y
[ [ ‘T
C
B
(]
A
D
)
A. FITTING For detailed fitting information, visit the Silent Gliss
INFORMATION website.
Fixing points 100 max. 700 max. 700 100

] | ]

L [

M
2 ~& SilentGliss SG 2210



B. CEILING FITTING

Bracket SG 3603

C. WALL FITTING

Bracket SG 3655,
SG 3660

Smart Fix

SG 2210

7

min. 50

SG 3655 SG 3660
Bracket 50 mm Bracket 65 mm
Z

|
/

Smart Fix SG 11200 - SG 11205 and bracket SG 3603:
Screw SG 10492 (M4x8) needed.

%SilentGliss

Bracket X mm

SG 3655 58

SG 3660 73

Smart Fix X mm
SG 11200/ SG 11210 80

SG 11201/ SG 1211 100

SG 11202 /SG 11212 120

SG 11203 /5G 11213 140

SG 11204/ SG 11214 170

SG 11205/ SG 11215 220

SG 11154 132-160
SG 11155 162-190
SG 11156 212-240




N

Square Smart Fix SG 11210 - SG 11215 and

bracket SG 3603:

Screw SG 10492 (M4x8) needed.

A\

Universal Smart Fix SG 11154 - SG 11156 and

bracket SG 3603:

Screw SG 10277 (M4x12) needed.

~) M 607 >
\_\\\\\\\\\ \\N >
S </I| N
16 62
s ~y
SG 3603 $G 10277 SG 10492 SG 11200
Bracket Pan head screw M4x12 Pan head screw M4x8 Smart Fix 60 mm
o~ N o P
80~ 1007~ 120 > >
& / \A \A 150 \‘
% 4 \:2 5 I 62 62 </ 62
X g X s 3 Se N
g
SG 11201 SG 11202 SG 11203 SG 11204

Smart Fix 80 mm

Smart Fix 100 mm

Smart Fix 120 mm

)

Smart Fix 150 mm

/\ i >3 807 00/'\
200 \‘ J‘l <\V <\V
62 N 29 S 29 29
16{ - a S
</ ~y 24 o
5
SG 11205 SG 11210 SG 11211 SG 11212

Smart Fix 200 mm

Square Smart Fix 60 mm

Square Smart Fix 80 mm

Square Smart Fix 100 mm

0 »\\s . ’\\s »‘\s - /\
< I I I b

< 29 29 ( 29 ( 62
a

o A S ~“ ~y
16 S
s Ne< s

SG 11213 SG 11214 SG 11215 SG 11154
Square Smart Fix 120 mm Square Smart Fix 150 mm Square Smart Fix 200 mm Universal Smart Fix 120 mm

%SilentGliss

SG 2210



/'\

150 \A 200 D
62 62
( X / ~
A
6 76/4
SG 11155 SG 11156

Universal Smart Fix 150 mm

Universal Smart Fix 200 mm

SYSTEM OPTIONS

A. FABRIC MAKE-UP

max. 200

*/L
m

F
F

=

SG 2210

>

JW Type B
Ring tape SG 2164:
@ A: Child Safety Eyelet soft fold SG 3078
g B: Ring tape SG 2164
C:Cord SG 2216
] D D:Child safety fastener set SG 3167
E: Hollow hem
~ E F: Bottom bar SG 2004
F

Type A

Loop tape SG 3074:

A: Loop tape SG 3074

B: Cord SG 2216

C: Child safety fastener set SG 3167

A D:Hollow hem

B E: Bottom bar SG 2004

C F: Child safety: max. distance 200 mm!
D

E

O

%SilentGliss



A Type C (hardfold)

A:Tape SG 2136
@ B: Child safety eyelet hard fold SG 3069
C:Rod SG 2135

D:Tape SG 2035

¢ E: Child safety hook set SG 3167

Type D (hardfold)

A: Child safety eyelet set SG 3161/ SG 3165

B: Rod SG 2135/ SG 2137

C:Tape SG 2035

D:Child safety hook set SG 3167

%\K E: Option: Rod SG 2135/ SG 2137 can be installed to room
B

side

e

‘%SilentGliss SG 2210



GENERAL NOTES

Dimensions
- Measurements are in mm except where indicated.
- Max. kg relates to fabric incl. accessories (bottom bars, cross rods, etc.).

- Stack size is typically 15-207% of system height.

Fitting
- Installation by qualified fitter only.

- Number of brackets and fitting positions / fixing points vary depending on fitting surface, system weight, fabric make-up, screw / fixing type
and obstacles.

- Qualified fitter must use appropriate screws / fixings for each situation.
- Electrical installations must be carried out according to Silent Gliss wiring diagrams and conform to local regulations.

— Check space for cables and plugs!

Child Safety
- All relevant Silent Gliss systems correspond to child safety EN 13120.
~ All parties involved must comply with EN 13120.

SG 2210 ‘%SilentGliss



PARTS

A. STANDARD PARTS

B. OPTIONAL PARTS

$G 1003p SG 2865 SG 2093
Profile Bead chain connector o 4.6 mm Ring
$G 2004 SG 2872 SG 2135

Bottom bar 20x7 mm

Bead chain plastic o 4.6 mm

Rod steel & 3 mm

Velcro profile

SG 2212

Tube adapter

S| L] @n |8y

$G 2213

Tube adapter

&

§G 2215

Eyelet

A\

$G 2216

Cord ¢ 0.85 mm

$G 2219

Eyelet

SG 2227

Pin

S$G 2539

%SilentGliss

SG 2049 SG 3074 SG 2137

Chain drive Loop tape Rod fiberglass e 4 mm
SG 2101 SG 3167 SG 2164

Eyelet Child safety fastener set Ring tape

SG 2179 SG 3603 SG 3055

End cover Bracket Hook

SG 2201 SG 10731 SG 3069

Eyelet Child safety retainer set Child safety eyelet
SG 2211 SG 3161

Child safety eyelet set

SG 3340

Cord/chain weight

SG 3655

Bracket 50 mm

SG 3660

Bracket 65 mm

SG 4845

Bead chain metal 0 4.5 mm

§$G 10277

Pan head screw M4x12

$G 10492

Pan head screw M4x8

SG 11154

Universal Smart Fix 120 mm




SG 11155

Universal Smart Fix 150 mm

SG 11482

SG 11156

Universal Smart Fix 200 mm

$G 11200

Smart Fix 60 mm

SG 11201

Smart Fix 80 mm

$G 11202

Smart Fix 100 mm

$G 11203

Smart Fix 120 mm

SG 11204

Smart Fix 150 mm

SG 11205

Smart Fix 200 mm

SG 11210

Square Smart Fix 60 mm

SG 11211

Square Smart Fix 80 mm

SG 11212

Square Smart Fix 100 mm

SG 11213

Square Smart Fix 120 mm

SG 11214

Square Smart Fix 150 mm

SG 11215

Square Smart Fix 200 mm

SG 2210

%SilentGliss



10

%SilentGliss

SG 2210



SG 2210

%SilentGliss



12

%SilentGliss

SG 2210



	SG 2210
	 Product Information 
	Profile information
	SG 2211
	SG 1003p
	SG 2004

	Fixing points

	 System Specifications 
	 System Dimensions 
	 Profile 
	 How to Measure 

	 Fitting 
	 Fitting Information 
	Bracket SG 3603
	SG 3603

	Bracket SG 3655, SG 3660
	SG 3655
	SG 3660

	Smart Fix

	 Ceiling fitting 
	 Wall fitting 
	SG 3603
	SG 10277
	SG 10492
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11205
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11215
	SG 11154
	SG 11155
	SG 11156


	 System Options 
	 Fabric make-up 

	 General Notes 
	 Parts 
	 Standard Parts 
	 Optional Parts 



